
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
de dix

6, 621 × 10000 = ________ 2, 605 × 1000000 = ________

6, 902 × 100 = ________ 7, 743 × 100 = ________

6, 928 × 1000 = ________ 10, 404 × 10 = ________

10, 083 × 100000 = ________ 5, 547 × 1000000 = ________

10, 811 × 100 = ________ 8, 239 × 1000 = ________

5, 754 × 100000 = ________ 4, 42 × 100 = ________

9, 815 × 1000000 = ________ 5, 71 × 10 = ________

7, 711 × 1000000 = ________ 9, 606 × 100 = ________

1, 733 × 1000000 = ________ 5, 646 × 100000 = ________

10, 777 × 1000 = ________ 3, 474 × 100000 = ________
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